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9 KIELTRA VS 1 I EREERA
H= A=
SR eI eI SR
it : EREK R Gk 1t : ABEKKRZ xR EE%
5 - B 7 AR & BER 7 - e
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2D = -90 [ri] 2NT +2 -180 3
2 it x 3D -3 150 [£3] 3NT -2 -200 8
3 panyiie] [ri] 3NT +3 -690 [ri] 3NT +2 -660 1
4 PWE=] x 3NT +1 -630 x 3NT +3 -690 2
5 it [£3] 5Cx = 750 1t 3NT -2 -200 14
6 panyiie] 1t 5Cx = 550 1t 4S -1 -50 12
7 PE=] x 4CXx +1 -910 1t 4Sx = 790 17
8 TS x 2NT -1 50 [£3] 2S -2 -100 4
9 g 1t 3Sx -3 -500 x 3NT -1 100 12
10 | \WHB [£3] 4HXx -2 -500 [ri] 3S +1 -170 8
DATUMSit T
KIELIPA I 8#KE5PA Y. X+ 43 | 38
EEK/BEE -13 NN -16 ait 43 | 38
BEE/GGR 16 8BS/ PR AT 13 V.P. 11.85 | 8.15
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3 Sleepless VS 2 R
H= A=
Sleepless R R Sleepless
b : R Y xR X 3t : B3 R BIE
/B BRE 7h @ BEX B MRS 7a: EIXX
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Wkl 4t | ANT | = 90 it | ANT -100| 5
2 |Emtl @ | 2nT | = | 120 B [ 3NT | -2 | 200 ] 8
3 |Z&mE@| 7 | 3NT | +1 | 630 | 7 | 3NT | +3 | 690 | 2
4 |wB| %= | 3NT | +1 | 630 | Zx | 3NT | -1 | 100 12
5 |gdkl 4t | 3NT | -2 | 200 | 4t | 3NT | -2 | -200
6 |FM| m | 5Cx | = | 550 | 7 | 4Hx | -2 | 500 2
7 | WBEl ® 5C = | 600 | 4t | 3sx | +1 | 930 17
8 |kl it 2H | -1 | -50 E3 2S = | 110 4
o |FHAE| it 2s | -1 | -50 it 2s | 2 | 100 | 2
10 |WwE| &= A4H | 2 | 200| ®m | 4Hx | 2 | 500 | 7
DATUM&iit g
Sleepless ®TR V. o] 26 33
WWERX/BERE -9 R HE/MNRTE 12 ait 26 | 33
BIE/EN -12 XS /EEX 9 V.P. 7.49 | 12.51
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5 I MERT VS 4 sysujnuscut
= HZ=
TR T sysujnuscut sysujnuscut T MERIT
it TRl R FER it : Bt IR 3NE
B BUKfE A BRE  : BRTR 7g : RER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wWxl 4t | INT | = 90 it | AINT | 3 | -150 | 6
2 it [£3] 3C = 110 [ri] 3S -1 50 2
3 panyiie] R 3NT +1 -630 R 6D -1 100 12
4 WE=] x 3NT -1 100 R 3NT +2 -660 13
5 |gdtl &8 | 4c | +1 | 150 | & | 3c | +3 | 170 1
6 panyiie] R 5Hx -3 800 [£3] 5C = 400 9
7 WE=] [£3] 5D = 600 [£3] 5D -2 -200 13
8 |wxl| = 2c | 2| 50 | %% | INT | = | -90 1
9 panyiie] R 3NT = -600 R 4D = -130 10
10 |Wa| &8 | 4H | 1 | -100| & 3s | +1 | -170 | 2
DATUM%it I E
I NERIL sysujnuscut Y. 2] 46 23
TERl/BKE 33 [EME/BR TR 3 ait 46 | 23
WINEIRER -3 FER/BRE -33 V.P. 16.59 | 3.41
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7 2P VS 6 I EREIRA
H= A=
St eI e e
1 E 7 57/ s % BER
S —. 7 = & XN 7 - T
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2H -2 -100 1t INT -3 -150 2
2 it [£3] 3C +1 130 [ri] 3S -2 100 1
3 ,?ﬁ [ri] 3NT +3 -690 x 6D = -1370 12
4 WE=] x 3NT +2 -660 x 3NT +1 -630 1
5 it [£3] 3C +2 150 [£3] 3C +3 170 1
6 panyiie] 1t 4S -1 -50 1t 3S +2 200 6
7 E=] x 5Cx = -750 x 5Cx = -750
8 TS [£3] 2C -2 -100 [£3] 2S = 110 5
9 panyiie] [ri] 5Hx -1 200 [£3] 3S -2 -100 7
10 | \WHB [£3] 4HX -1 -200 [£3] 4H -1 -100 3
DATUMSit T
E52PA AN Y. 3+ 22 16
RE /PRI = -20 {AI<FB/ X1/ N5 -27 ait 22 16
HHER/FEY 27 75/ \BR/ 25215 20 V.P. 12.18 | 7.82
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13 BRI 2FA VS 12 HEFH
H= A=
BT2I0 ST ST BT2I0
1 BE . 1t - =508 .
o BE 7 B & | 7 - W
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2D = -90 x 2D +1 -110 1
2 it x 2D -1 50 1t 3NT +1 630 11
3 |FALl &R 5D +1 | -620 7a 3NT | +2 | -660 1
4 PWE=] [£3] 5D = 600 1t 3NT = 600
5 it x 4HX -1 100 1t 5Cx = 750 12
6 panyiie] [£3] 5C = 400 x 4H -1 100 4
7 PE=] 1t 3S +1 170 x 5Cx = -750 14
8 TS [£3] 2S -1 -50 [£3] 2S -1 -50
9 panyiic] x 3NT -1 100 [£3] 3Sx -2 -300 9
10 | \WHB [£3] 4HX -2 -500 [ri] 4S = -620 3
DATUMSit T
BRI 2PA gEFPA Y. 5+ 35 23
BER/SME 20 Z25BH /5K ISR 5 ait 35 | 23
EE/FFREETT -5 ZRIC/BRAE -20 V.P. 14 6
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11 EEKBA VS 10 I P[]
H= A=
ST AT AT ST
1t : &3¢ IR 2R 1t 1 &K &84
- 7 e - 75 - #1155
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] INT +3 -180 [£3] 3S -2 -100 2
2 it [£3] 3C = 110 1t 3NT -4 -400 11
3 panyiie] [ri] 3NT +3 -690 x 3NT +3 -690
4 PE=] x 3NT = -600 [ri] 3NT -1 100 12
5 |mdbl &5 | ac | +1 | 150 | & | sc | = | e00 10
6 ,?ﬁ x 4HX -1 200 x 4HX 2 500 7
7 PWE=] 1t 4Sx = 790 x 6CXx -1 200 11
8 TS [£3] 2S -2 -100 x 3NT 4 200 7
9 panyiie] [ri] 2HXx +1 -870 x 3NT +1 -630 6
10 | \WHB [ri] 4S = -620 [ri] 4S -1 100 12
DATUMSit T
EFKPA I PE Y. %+ 22 | 56
S /BE -25 eV RN 21 ait 22 | 56
BEE/MIE 21 PRFNFRRE 25 V.P. 1.56 | 18.44
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14 §g=s VS 8 HLLKZE
H= A=
. A A .
it ® . | R
3] 7 3] 7g :
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | w%
BT
3 | 57
4 | B
5 | @it
6 | &7
7 | wE
8 | W%
o | &7
10 | wE
DATUM&it %
S AXE Y. 3+
/ o / 0 &it
/ @) / @) V.P. 10 10




